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Chapter 11

How Do Managers Evaluate Performance in Decentralized
Organizations?

© Thinkstock
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Mandy:

In reviewing our segmented income statement, it looks like the Board
Games division had a terrific year. Profits increased substantially over last
year, more than either of the other two divisions, and overall profit for this
division is well above the other two. Carla Klesko, the Board Games division
manager, is to be commended for her fine work! We should consider
revising her compensation plan to increase her annual bonus based on
these results.
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Larry:

Not so quick, Mandy. I agree that the Board Games division has
successfully increased profits, but we must consider more than just the
bottom line (profits) in determining how substantial the increase is in
comparison to the other divisions.

Mandy: What do you have in mind?

Larry:

For starters, we should consider what resources were invested in the Board
Games division, and determine the return produced from these resources.
As you recall, Carla made a significant investment in her division, whereas
the other division managers did not. So naturally, we would expect Board
Games division profits to increase by more than the other divisions.

Mandy:
IÕve always focused on the bottom line for each division. What performance
measures do you propose we use?

Larry:

We have several options. Return on investment (ROI), residual income (RI),
and economic value added (EVA) are three commonly used measures.
Perhaps we can discuss this further next month once IÕve had a chance to
pull some information together.

Mandy:
Excellent idea. I look forward to getting your ideas on this issue next
month.
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11.1 Using Decentralized Organizations to Control Operations

LEARNING OBJECTIVE
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Question: Many types of organizations decentralize operations to better manage each
segment of the organization.What does it mean to decentralize operations?
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Reasons to Decentralize

Question:Why do organizations decentralize operations?
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Figure 11.1Decentralized Versus Centralized Organizations
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Advantages of Decentralizing Operations

Question:What are the advantages of decentralizing operations for companies like Game
Products, Inc.?

�CHL:G��+G<6C>O6I>DCH�A>@:�#6B:�,GD9J8IH�I:C9�ID�9:8:CIG6A>O:�6H�I=:>G�DE:G6I>DCH
<GDL�6C9�7:8DB:�BDG:�8DBEA:M
�0=:�69K6CI6<:H�D;�9:8:CIG6A>O>C<�6G:�6H�;DAADLH�

Q Increased Expertise. .6I=:G�I=6C�=6K>C<�DC:�B6C6<:G��DG�6�<GDJE�D;
B6C6<:GH��IGN>C<�ID�B6@:�9:8>H>DCH�;DG�6�L>9:�G6C<:�D;�EGD9J8IH�
9:8:CIG6A>O:9�DG<6C>O6I>DCH�9:A:<6I:�9:8>H>DC�B6@>C<�6JI=DG>IN�ID
AD86A�B6C6<:GH�L=D�=6K:�:ME:GI>H:�>C�HE:8>;>8�EGD9J8IH
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Business in Action 11.1
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Disadvantages of Decentralizing Operations

Question:What are the disadvantages of decentralizing operations for organizations, such as
Game Products?
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11.2 Maintaining Control over Decentralized Organizations

LEARNING OBJECTIVE
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Question: To evaluate performance, organizations often divide operations into segments.
Segments responsible for revenues, costs, and investments in assets are called
responsibility centers � . Responsibility centers can be based on such attributes as sales
regions, product lines, or services offered.Why do organizations establish responsibility
centers?
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Figure 11.2Three Types of Responsibility Centers
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Cost Center

Question:What is a cost center, and what measures are used to evaluate this type of
responsibility center?
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Profit Center

Question:What is a profit center, and what measures are used to evaluate this type of
responsibility center?

�CHL:G��� profit center � >H�6C�DG<6C>O6I>DC6A�H:<B:CI�I=6I�>H�G:HEDCH>7A:�;DG�8DHIH
6C9�G:K:CJ:H��6C9�I=:G:;DG:��EGD;>I���7JI�CDI�>CK:HIB:CIH�>C�6HH:IH
�.:I6>A�HIDG:H�;DG
8DBE6C>:H��HJ8=�6HMacyÕsDGKmart ��6G:�IG:6I:9�6H�EGD;>I�8:CI:GH
�%C9>K>9J6A�;6HI
;DD9�G:HI6JG6CIH�;DGMcDonaldÕsDGKentucky Fried Chicken 6G:�6AHD�:M6BEA:H�D;
EGD;>I�8:CI:GH
�)6C6<:GH�D;�EGD;>I�8:CI:GH�6G:�G:HEDCH>7A:�;DG�G:K:CJ:H��8DHIH��6C9
G:HJAI>C<�EGD;>IH
��/DB:�>C9>K>9J6A�G:I6>A�HIDG:H�6C9�;6HI�;DD9�G:HI6JG6CIH�B6N�7:
8DCH>9:G:9�>CK:HIB:CI�8:CI:GH�>;�I=:�HIDG:�B6C6<:G�>H�6AHD�G:HEDCH>7A:�;DG�A6G<:
>CK:HIB:CI�9:8>H>DCH��HJ8=�6H�:CA6G<>C<�I=:�7J>A9>C<�6C9�EJG8=6H>C<�BDG:
:FJ>EB:CI�ID�688DBBD96I:�699>I>DC6A�8JHIDB:GH
�,GD;>I�8:CI:G�9:I:GB>C6I>DC�BJHI
7:�B69:�DC�6�86H:�7N�86H:�76H>H��6C9�>I�9:E:C9H�DC�I=:�A:K:A�D;�G:HEDCH>7>A>IN
6HH><C:9�ID�I=:�HIDG:�B6C6<:G
�

):I=D9H�D;�E:G;DGB6C8:�:K6AJ6I>DC�;DG�EGD;>I�8:CI:GH�K6GN
�/DB:�DG<6C>O6I>DCH
8DBE6G:�68IJ6A�EGD;>I�ID�7J9<:I:9�EGD;>I
�+I=:GH�8DBE6G:�DC:�EGD;>I�8:CI:G�ID
6CDI=:G
��AHD��HDB:�DG<6C>O6I>DCH�JH:�H:<B:CI:9�>C8DB:�HI6I:B:CI�G6I>DH��HJ8=�6H

�
 ��H:<B:CI�D;�6C�DG<6C>O6I>DC
G:HEDCH>7A:�DCAN�;DG�8DHIH��7JI
not;DG�G:K:CJ:�DG�>CK:HIB:CIH
>C�6HH:IH


�
 ��H:<B:CI�D;�6C�DG<6C>O6I>DC
G:HEDCH>7A:�;DG�8DHIH�6C9
G:K:CJ:H��7JInot>CK:HIB:CIH
>C�6HH:IH


�=6EI:G����$DL� D�)6C6<:GH�!K6AJ6I:�,:G;DGB6C8:�>C� :8:CIG6A>O:9�+G<6C>O6I>DCH�

��
��)6>CI6>C>C<��DCIGDA�DK:G� :8:CIG6A>O:9�+G<6C>O6I>DCH ���



<GDHH�B6G<>C�DG�DE:G6I>C<�EGD;>I��ID�8DBE6G:�8JGG:CI�EGD;>I�8:CI:G�E:G;DGB6C8:�ID
EG>DG�E:G>D9H�6C9�ID�DI=:G�EGD;>I�8:CI:GH
�=6EI:G�����$DL� D�)6C6<:GH�1H:
">C6C8>6A�6C9�*DC;>C6C8>6A�,:G;DGB6C8:�):6HJG:H��:MEA6>CH�=DL�8DBE6C>:H�86C
JH:�;>C6C8>6A�G6I>DH�ID�:K6AJ6I:�EGD;>I�8:CI:G�E:G;DGB6C8:


Investment Center

Question:What is an investment center, and what measures are used to evaluate this type of
responsibility center?
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REVIEW PROBLEM 11 .2
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11.3 Comparing Segmented Income for Investment Centers

LEARNING OBJECTIVE
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Question:Now that we know an investment center is an organizational segment responsible
for costs, revenues, and investments in assets, where do we start in trying to evaluate the
performance of investment centers?
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Revisiting Game Products, Inc.

Question: In the dialogue at the beginning of the chapter, Mandy Dwyer, president and CEO,
said she would like to increase the annual bonus for Carla Klesko, manager of the Board
Games division, based on the divisionÕs level of profit relative to the other divisions.How does
the Board Games division profits compare with the other divisions?
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Figure 11.3Segmented Income Statements (Game Products, Inc.)
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Limitations of Using Segmented Income to Measure Performance

Question: Although using net income for each division as a performance measure is
relatively simple, there are two significant weaknesses.What are these weaknesses?
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REVIEW PROBLEM 11 .3
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11.4 Using Return on Investment (ROI) to Evaluate Performance

LEARNING OBJECTIVE
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Question: Perhaps the most common measure of performance for managers responsible for
investment centers is return on investment (ROI).What is ROI, and how is it used to evaluate
investment centers?
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Operating Income and Average Operating Assets

Question:What is operating income, and how does it differ from net income?
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Question:What are average operating assets, and how is this amount calculated?
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Computing ROI at Game Products, Inc.

Question:Using ROI as the measure, how do the divisions at Game Products, Inc., compare
with each other?
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Figure 11.4Segmented Balance Sheets (Game Products, Inc.)
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Figure 11.5ROI Calculations (Game Products, Inc.)

*Operating income amount is from segmented income statements presented inFigure 11.3 "Segmented Income
Statements (Game Products, Inc.)".
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**Average operating assets are calculated using the balance sheet information inFigure 11.4 "Segmented Balance
Sheets (Game Products, Inc.)". Since all assets at Game Products, Inc., are operating assets, total asset amounts are
used in this calculation. The calculation of average operating assets for each division is (Beginning balance of total
assets + Ending balance of total assets) Ö 2. Average operating assets for the Sporting Goods division is $29,350 (=
[$30,500 + $28,200] Ö 2).

^ROI = Operating income Ö Average operating assets. For Sporting Goods division, 11.23 percent = $3,295 Ö $29,350.
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Issues with ROI as a Performance Measure
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Operating Income CalculationÑA Closer Look

Question: For the purposes of the Game Products, Inc., example, we use the same definition of
operating income that is used for financial reporting purposes in accordance with U.S. GAAP.
However, organizations often create their own unique calculation of operating income for
internal evaluation purposes.How might the internal calculation of operating income vary
from U.S. GAAP?
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Excluding Allocated Overhead
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Figure 11.6Segmented Income Statements (Game Products, Inc.)

Including Income Tax Expense
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Average Operating Assets CalculationÑA Closer Look

Question: For Game Products, Inc., we assume all assets are operating assets. That is, all
assets are used in the daily operations of the business. As discussed earlier, assets that are
not used in the daily operations of the business, such as land held for investment or buildings
sublet to other companies, are not included in this calculation. The average is found by
taking the beginning balance plus ending balance and dividing by two. The issue in this
calculation focuses on long-term assets that are depreciated over time.What options exist in
valuing long-term assets for the purpose of calculating ROI?
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Using Net Book Value to Calculate ROI
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Using Gross Book Value to Calculate ROI
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Key Equation
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Business in Action 11.4

Source: Photo courtesy of Rod Ramsey,http://www.flickr.com/photos/rdrcollection/2078536386/
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REVIEW PROBLEM 11 .4
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*$9,600 = ($9,400 ending balance + $9,800 beginning balance) Ö 2.

**$41,600 = ($40,600 ending balance + $42,600 beginning balance) Ö 2.
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*Operating income is provided in the segmented income statement.

**Average operating assets is calculated in requirement 1.
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^ROI = Operating income Ö Average operating assets. For Southern division, 11.60 percent =
$1,114 Ö $9,600.
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Further Analysis of ROI

Question:How does breaking ROI down into two separate measures help division managers
improve their divisionÕs ROI?
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Key Equation

Key Equation
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Key Equation
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Question:How are these ratios used to evaluate the three divisions at Game Products, Inc.?
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Figure 11.7Operating Profit Margin, Asset Turnover, and ROI for Game Products, Inc.

*FromFigure 11.3 "Segmented Income Statements (Game Products, Inc.)".

**FromFigure 11.5 "ROI Calculations (Game Products, Inc.)".
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KEY TAKEAWAY
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REVIEW PROBLEM 11 .5
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*FromNote 11.26 "Review Problem 11.4"data.

**FromNote 11.26 "Review Problem 11.4"solutions, part 1.

^Due to rounding, ROI percent is slightly different than when computed inNote 11.26
"Review Problem 11.4".
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11.5 Using Residual Income (RI) to Evaluate Performance

LEARNING OBJECTIVE

�
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Question: Although ROI is commonly used as a divisional performance measure, some
division managers dislike this measure.Why do some division managers prefer not to use
ROI as a performance measure?
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Calculating RI

Question:What is RI, and how does it help to prevent the conflict associated with ROI?
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Limitation of RI

Question: Although RI resolves some of the problems of using ROI as a performance measure,
it does not provide an efficient means for comparing divisions.What is the problem with
using RI to compare divisions?
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Computing RI at Game Products, Inc.

Question: LetÕs revisit Game Products, Inc., and calculate RI for each of the three divisions.
How did the three divisions perform using RI as the measure?
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Figure 11.8RI Calculations (Game Products, Inc.)

*FromFigure 11.3 "Segmented Income Statements (Game Products, Inc.)".

**FromFigure 11.5 "ROI Calculations (Game Products, Inc.)".
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REVIEW PROBLEM 11 .6
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*FromNote 11.26 "Review Problem 11.4"data.

**FromNote 11.26 "Review Problem 11.4"solutions, part 1.
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11.6 Using Economic Value Added (EVA) to Evaluate Performance

LEARNING OBJECTIVE
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Question: Another measure of performance similar to residual income (RI) is called economic
value added.What is economic value added, and how is it used to evaluate divisions?
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Computing EVA for Game Products, Inc.

Question:How is EVA calculated for the divisions at Game Products, Inc.?
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Figure 11.9Income Statement and Balance Sheet Information (Game Products, Inc.)
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Figure 11.10EVA Calculations (Game Products, Inc.)

*FromFigure 11.9 "Income Statement and Balance Sheet Information (Game Products, Inc.)".

Question:How did each of the three divisions perform using EVA as the measure?
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Weaknesses with EVA

Question: While EVA is no doubt a popular method for evaluating investment centers, and
companies as a whole, there are weaknesses in its approach.What are these weaknesses?
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REVIEW PROBLEM 11 .7
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11.7 Wrap-Up of Game Products, Inc.

Question: At the meeting described at the beginning of the chapter between Mandy Dwyer
(president and CEO) and Larry Meske (CFO), Mandy wanted to revise the compensation plan
for the manager of the Board Games division to increase her bonus because profits had
increased significantly compared to prior years. Larry suggested using measures other than
segmented net income to evaluate each division and asked for time to gather additional
information.What information did Larry gather, and how does this additional information
help Mandy evaluate each division?
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Figure 11.11Five Performance Measures at Game Products, Inc.
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Figure 11.12Comparison of Income Performance Measures for Each Division at Game Products, Inc.

Figure 11.13Comparison of Profit Margin Ratio and Return Investment for Each Division at Game Products,
Inc.
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Mandy
(president
and CEO):

Larry, letÕs begin where we left off at our last meeting. What do you have
for me with regard to performance evaluation measures we might use
for our division managers?

Larry
(CFO):

Here is a summary of five measures I think can be useful if used
correctly (seeFigure 11.11 "Five Performance Measures at Game
Products, Inc."). As you suggested, Mandy, the starting point is
segmented net income, which is shown on line one. The Board Games
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division has the highest net income and looks to be a strong performer in
this regard.

Mandy: What is the ratio shown on line two?

Larry:

This is the profit margin ratio. It is a much better measure to evaluate
the profitability of each division relative to sales. This measure shows
the Sporting Goods division produced the highest profit for each dollar
in sales with a ratio of 11.53 percent. Board Games is second at 10.19
percent and Computer Games is last at 5.44 percent.

Mandy:

I see. What about the use of assets? Each division is responsible for
investments in assets and we would like to know how effective each
division is in producing income with these assets. Is this where ROI
comes in?

Larry:

Yes. As shown on line three, the Sporting Goods division is making the
best use of its operating assets with an ROI of 11.23 percent. Board
Games is second at 8.93 percent, and Computer Games is last at 6.75
percent.

Mandy:
So youÕre telling me Sporting Goods is doing better than the other two
divisions, even though Board Games has the highest net income?

Larry:
Yes, Sporting Goods is the most effective at using assets to produce
profit.

Mandy: What are the last two measures you show here?

Larry:

Both of these last two measures also consider asset use in the
calculation. As shown on line four, Sporting Goods had the best
performance by producing $947,000 in RI compared to $516,000 at Board
Games and $(419,000) at Computer Games.

Mandy: Computer Games has negative RI?

Larry:
Yes. However, you will notice that EVA shown on line five presents a
different picture.

Mandy: Why?

Larry:

Computer Games has high research and development costs each
yearÑitÕs the nature of the industry. U.S. GAAP requires these costs to
be expensed when incurred. EVA suggests recording R&D costs as an
asset and amortizing the costs over the useful life of R&D activities.
Since Computer Games has much higher R&D costs than the other
divisions, the numbers changed dramatically relative to the other
divisions. Also, after-tax income is used rather than operating income,
and average assets are adjusted as well.

Mandy: Seems as if there is an awful lot of subjectivity in using EVA.
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Larry:
Yes, there is. If we choose to use EVA as one of our measures,
management must meet to discuss and agree upon the adjustments to
be made.

Mandy:
Larry, thanks for your analysis. IÕm beginning to understand the
importance of including asset use in our performance measures. Where
do we go from here?

Larry:

I like the first three measuresÑnet income, profit margin ratio, and ROI.
They are widely used in industry, and managers tend to understand the
nature of these measures. The last two measures are also useful and
should not be overlooked. My recommendation is to meet with the
division managers to develop a comprehensive incentive compensation
plan. The key is to develop a plan that motivates our managers to
achieve company goals.

Mandy: I like the idea! LetÕs meet next week.
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11.8 Appendix: Transfer Prices between Divisions

LEARNING OBJECTIVE

�
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Question: Many companies have independent divisions that transfer goods or services from
one division to another. If division managers are evaluated based only on division results
using measures, such as segmented net income, profit margin ratio, or return on investment
(ROI), conflicts can arise causing managers to take a course of action that benefits the
division but hurts the company as a whole. For example, a division manager may decide to
purchase raw materials from an outside supplier even though the same materials can be
produced at a lower cost by another division within the company (the other divisionÕs
manager refuses to sell the materials at a reduced price because she is evaluated based on
her divisionÕs profits!).How should a company establish transfer pricing to avoid this kind of
conflict?
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Using the General Economic Transfer Pricing Rule

Question:How does the general economic transfer pricing rule help organizations to
establish an appropriate transfer price?
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Key Equation
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Transfer Pricing When Selling Division Is below Capacity

Question: Assume Assembly is below capacity. This means there is no opportunity cost of
selling internally since no outside sales are forgone as a result of the transaction.What is the
appropriate transfer price in this scenario?
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Key Equation
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Transfer Pricing When Selling Division Is at Capacity

Question: Now assume Assembly is at capacity. This creates an opportunity cost of selling
internally, since outside sales must be forgone as a result of the transaction.What is the
appropriate transfer price in this scenario?
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Business in Action 11.5
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Using Cost to Set Transfer Price

Question: Another approach to establishing a transfer price is to use the cost of the goods or
services being transferred.How are these costs determined?
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Variable Cost
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Full Absorption Cost
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Cost-Plus
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Negotiating Transfer Prices

Question: If the general economic transfer pricing rule is not used, and the cost approach is
not used, another alternative is to simply negotiate the transfer price.What are the potential
weaknesses in negotiating a transfer price?
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Choosing the Best Approach to Establish a Transfer Price

Question:Which transfer pricing approach is best?
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